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A loop has a similar effect on a network as: 

A. A poorly written application 
B. packet corruption 
C. CRC error 
D. A broadcast storm 

Answer: D 

QUESTION:  65 
The loss of BPDU packets causes a ________ port to start ___________--

A. Forwarding/Blocking 
B. Listening/Learning 
C. Blocking/Forwarding 
D. Forwarding/Learning 

Answer: C 

QUESTION: 66 
Choose all that apply. Which of the following can result in a port/switch failing to 
receive BPDU packets? 

A. A duplex mismatch on a point-to point link 
B. Aggressive STP value changes 
C. A unidirectional link 
D. Packet corruption 

Answer: A, B, C, D 

QUESTION: 67 
Loops cannot occur with spanning Tree protocol enabled 

A. True 
B. False 

19



A. 10 
B. 20 
C. 30 
D. 40 

Answer: C 

QUESTION: 69 
The BPDU Message Age timer has a maximum value of __________ seconds. 

A. 10 
B. 20 
C. 30 
D. 40 

Answer: A 

Answer: B 

QUESTION: 68
 
The BPDU Forward Delay timer has a maximum value of ____________ seconds.
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